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Question [, ( 25 points)
1.1 A wholesaler sells an article to a retailer for E4400 which represents a profit to the

wholesaler of 22% .The retailer then sells the article to a customer at a profit of
13%.Calculate the total percentage profit based on the price the wholesaler paid?

( 13 points)

1.2 A shopkeeper marks an article to allow himself 15% profit on the cost price. If he sells it
For E 700 how much was the cost price? ( 12 points)

Question 2. ( 25 points)

2.1 Factorize completely ( 8 points)
(9 —x)° - 36y?
2.2 Simplify ( 8 points)

3 2x—1 2

X+1 | (x+1)(x+2)  x+2

2.3 Find the solution set of system of simultaneous equation. ( 9 points)
3x +2y =23
xy =20
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Question 3( 25 points)
3.1 Find the solution of exponential equation ( 8 points)
@By* =27
3.2. Find the solution set of logarithmic equation. ( 8 points)
log s'*** + logs*? = 3
3.3.If cos A =g find the values of sin A and tan A without calculator? ( 9 points)
Question 4 (25 points)
4.1. Differentiate the following with respect to x
a) y=4x" +6x° -5x+6
4 .
b) y= o +6x-8 (9 points)

4.2 A man 1.9 m tall observes the angle of elevation of a tree to be 20°. Ifhe is standing 20 m
from the tree, find the height of the tree. ( 8 points)

43 If% =2+3xand y =12 when x =2 find y in terms of x.
( 8 points)
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